Textbook Chapter 16 page 343

Using Skills

The map on page 111 shows the extension of slavery in the 1800’s. Use the information from
the map to answer the following questions. Print the letter of the best answer in the space ~

to the left.
1. - Which state allowed slavery in 1820?
A. Illinois C. Indiana
B. Ohio D. Kentucky
2. Which territory allowed slavery in 1850?
A. Oregon Territory - C. Indian Territory
B. New Mexico Territory D. Minnesota Territory
3. ____ Which territory was closed to slavery by 1854?
A. Kansas Territory C. Utah Territory
B. Nebraska Territory | D. Oregon Territory
4. _____ Which states admitted to the Union between 1820 and 1850 entered as slave states?
A. Missouri and Maine C. California and Texas
B. Missouri and Texas D. Texas and Maine
5. _____ Which area had no policy toward slavery within its boundaries? h
A. Kansas Territory ‘ C. Indian Territory
B. Missouri D. Texas
6. The area gained by the United States from Mexico became mostly
A. open to slavery.
B. closed to slavery.
7. —_. By 1854, most of the territories were
A. open to slavery.
B. closed to slavery.
8. ______ Did the number of free states and slave states increase between 1820 and 1850?
A. Yes
B. No
9. - Did the number of free states increase between 1850 and 1854?
A. Yes
B. No
10. - Did the number of slave states increase after 1850 and before 1854? \
A. Yes
B. No
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